NORTH CENTRAL RAILWAY
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APPENDIX II-A (IREM) EXAM,2020
qffry 11-9 (o€ o € w) TET,2020
Subject- Elementary Book Keeping
fAww- gfas agt arar

Total Marks-100

goifes -100

Questions may be answered in Hindi or English.
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2. Question 1 is compulsory. Attempt any four of
remaining questions.

2. gyl gfAad g 1 dw et A e s mwAar I3

Time : 3 hours
quT ;3 He

Note : 1.

Al

Question 1: From the following trial balance of ABCD Ltd. and additional information,

prepare Trading and Profit & Loss account and Balance sheet for the year ended June 30™,
2019.
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(1*28=28marks)

Particulars/ Debit/3fe | credit/¥f2z | Particulars/ | pebit/3fd2 |cCredit/#f32
IEEERUI oo
Capital/éﬁﬁ 100,000 Transportation | 7,000
out / TREEH ATET
Furniture/ 20,000 Creditors/ 120,000
FATET AT
Purchases/ #d 150,000 Provision for 6,000
Bad Debts/ @{d
F & foro graeT
Debtors /IA=TT 200,000 Printing and 8,000
Stationery/
TS 37 e
arft
Interest 4,000 Insurance 12,000
Earned/#foa =amsr Expense/ #THT
aq
Salaries/ add 30,000 Opening Stock/ | 50,000
gTEfaE giaar




AT

Sales/ fQwy 321,000 Office 12,000
Expenses/
IR IERECk |
Purchase 5,000 Bank 2,000
returns/ ®@ag Overdraft/ d®
AT gfefasd
Wages/ W 20,000 Drawing/ X@l- 24,000
. ) =
Rent / f&Farar 15,000
Sales Return/ 10,000 TOTAL | 558,000 558,000
fasft gt

Additional Information/ sfafr= sraa14 -

1. Depreciate furniture by 10%.
10% T FAT=T FT qoq F7 F7 |
2. A provision for doubtful debts is to be created to the extent of 5% on sundry debtors.

dﬁvamfarﬁ%ﬁrqsvoﬁﬁmﬁ#ﬁma{ﬁmmmﬁmwgl

3. Salaries for the month of June, 2019 amounting to Rs. 3,000 were unpaid which must be
provided for. However, salaries included Rs. 2,000 paid in advance. Office expenses
outstanding Rs. 8,000.
S, 2019 F HEH & a9 Fit i 3,000 T sidafiw &, o war Gy s wlRuafye |
A H % 2,000 F1 #Ff qEra By fiwrate 71 ad aFwAr e 8,000/-

4. Insurance amounting to Rs. 2,000 is prepaid.
T Tfor % 2,000 gd=Ta 21

5. Stock use for private purpose Rs. 6,000 and closing stock Rs. 60,000.
st st & foro =@ 6,000 # 3w drawme % 60,000 2

Question 2: Write short notes on any four : (4*4.5=18 marks)

T 2 et oft = 9w sre ferogfura forg

Accrual Accounting /  SU9T A=THA
Balance Sheet / fa<fta fRafa faawor
Promisory Note / gfasTeas o
Intangible Assets / ¥¥geq Hufw
Accrued Income / o g

Bills Payable / 34 faer
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Question 3: Differentiate between any four (4) of the following
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Question 4: From the following particulars, you are
Reconciliation Statement as on 31-12-2016, for PORS Ltd:

w57 4 Gt Faei &, e PORS Lid F Ao a1

Revenue Expenditure and Capital Expenditure

qurret
Fixed Assets and Current Assets / FfS siafsy sftr =g el
Journal and Ledger / Aarmrar st arar agl

Trade Discount and Cash Discount

/ s gz 3 A e
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B No.

Item

Bank balance overdraft as per cash book

oy % & W A A sfafawd

Cheque recorded for collection but not sent o the bank

i

Credit side of the cnsi\-ml;)‘i'ﬂﬂél short
For g ® AT ATAT £ A7 jnﬁ

Premium on proprietor’s Tife Insurance Policy (LIF) paid on
standing order
e 1 v gearta it (g ) drfe w0 w1

ot w7 AT far

Bank C hurgéﬁ]'cé't;rd‘cd'{wia:f)in the cash book o
¥ qarr AT AT for gw:il 7 fr oo

vi

Customer's cheque returned by the bank as dishonoured

S sgea 7 A B . Afe Ay ARt A v f
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I Cheque received entered tw ice in the cash book

company
Frer ey ey e faer o serefy #y sire av &% gron UFA B

T
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Cheque issued but dishonored on technical grounds

Bill Receivable collected by the bank directly on the behalf of |

3o Ty BT At é_wﬁ-f.}mvnf A IFA R

not collected by bank.

(4*4.5= 18 ek a)
. saea sy 3 Al =
Single Entry System and Double Entry System /- 1 gqfafe yorredl she AE afafe

Amount
#OOO0

100060
1000

5000

100
AOU0

20000

6000

000

A cheque (lféﬁofsité(”finlb' the bank of worth s, 45,000 but s, #,000 cheques was

45.000 F7 AT AF A ;AT foy apr ATAA B,000 #00 ¥ Aw AT gror ey a#l

required to prepare Harnk
(1% 1= 18 marks)
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